Havis, Inc.

¥ \ 75 Jacksonville Road
\ ! Warminster, PA 18974
800-524-9900 F 215-957-0729
W Productivity in motion www.havis.com

INSTALL INSTRUCTIONS C-VS-1100-F150-2
2017-2022 Ford F-250, 350, 450 XL and XLT Pickup, F-450 and 550 Cab Chassis
2015-2020 Ford F-150 XL and XLT Pickup
2018-2021 Ford Expedition SSV

Vehicle Specific Console with 11” inches of Equipment mounting space
For trucks with 40/20/40 split bench seats or 40/mini console/40 seats
** Does not work with 4 X4 floor shifter or higher trim level trucks with full length center console**

TOOLS REQUIRED:

Ratcheting wrench Panel removal tool 7 mm Socket or Driver
Metric/Standard Socket Set T-20 Torx Driver Bit 7/16” Wrench

INSTALLATION PARTS AND MOUNTING HARDWARE:

QTY  DESCRIPTION PART#

1 Main console housing

2 Upper console mounting bracket CMO008699

1 Lower console mounting bracket CM008729

4 1/4" Serrated nut GSM30023

4 1/4" Carriage bolt GSM31999

1 Console upper filler plate CMO008674

2 #8-18 x %" Flat head screw GSM33178

1 USB extension cable HW-EL-0044

2 #4 lock washer HW-LW-1501 CM008699

C-VS-1100-F150-2 < Upper console

brackets.
Assembly drawing

(One each side)

CM008674
Filler plate for Model
XL truck without

CD player only

Main console housing

CMO008729
Lower console
bracket

Always!
» Read all instructions before installing any Havis, Inc. products.
» Use hardware provided with install kit C-VS-1100-F150-2 INST 3-22



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974

T 800-524-9900 F 215-957-0729

Productivity in motion ) www.havis.com

e

Model XLT dashboard before installation. Flip up center seat and remove Gently pry up speaker cover

Note: Model XLT has optional CD player OEM cup holder. If your vehicle does not have the
and model XL does not. CM008674 Filler speaker simply lift the rubber mat
plate is provided for XL application. to expose the fasteners.

Remove two (2) 7mm head Pop up upper storage tray and Remove two (2) 7mm head
fasteners located next to the center unplug speaker. fasteners from top of radio and
channel speaker. HVAC controller

Starting at the top, gently pry along Unclip the lower trim panel from Gently pry along the side vent

the radio and HVAC controller and the lower portion of the dash. Pull panels around the previously
remove. to the side. removed trim bezels starting at the
It is not necessary to fully remove top and working your way down.
this panel.

C-VS-1100-F150-2_INST_3-22



www.havis.com

Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974

T 800-524-9900 F 215-957-0729

Productivity in motion

Remove (2) 7mm head fasteners at Pull OEM pocket out. Install lower console mounting

the top of the pocket and (2) 10mm This will not be reused. bracket (CM008729) using
head bolts at the bottom sides. Remove the USB from the pocket previously removed 10mm head
and plug in the provided USB extension bolts.

S

Install upper console mounting Re-install all removed trim panels Install console by flipping up the
brackets (CM008699) using and bezels. center seat and placing the console
previously removed 7mm head as close as possible to the dash and
fasteners. slipping it in front of the center

under seat storage.

Install four (4) 1/4" x 1/2" carriage Install control heads and For the non CD player models the
bolts and serrated nuts into the equipment. CMO008674 filler plate must be
upper and lower support bracket. attached using #8 x %” Flat head

Tighten all hardware. screws on top of console.

Mount USB extension in passenger
side of console. C-VS-1100-F150-2_INST_3-22



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974

T 800-524-9900 F 215-957-0729

Productivity in motion www.havis.com

Instructions for Havis Remote USB Extension Cable

Part # HW-EL-0044

Parts Included:
« USB 2.0 Panel Mount Extension Cable - 12" length (1)
« Screws (2)
« Lock Washers (2)

BEFORE BEGINNING:
(A) Ensure that 12.0” cable length is sufficient to span distance from desired USB Port to desired panel mount location.

(B) Ensure panel mount matches recommended geometry defined to the right.

Installation: _® g ®_

1. Remove the Screws from USB Cable. 7' | s

2. Align the female end of the USB Cable with mounting surface hole pattern. - il
Insert Screws and Lock Washers as shown and tighten Screws. /\ CAUTION: DO NOT OVERTIGHTEN SCREWS

3. Plug male end of USB Cable into USB Port.
4. Strain Relief cable as needed.

USB Port UsB

Extension Cable Mounting Surface ock

..... (- I ¢
..... - I ¢ PP

- \ Praductivity in motion

C-VS-1100-F150-2_INST_3-22



